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PHYSICS

Q.1 A cuboidal block of height a and width b is
placed on thehorizontal surface with sufficient
friction then for a given force

b

a

f

(1) Probability of toppling is more if b > a
(2) Probability of toppling is more if a > b
(3) Probability of toppling is more if a = b
(4) Block can not topple

Q.2 Six charges areplaced at the cornerof a regular
hexagon as shown. If an electron is placed at
its centre O, force on it will be:

A

F

B

DE

-2q -2q

- q

q

4q

2q

(1) Zero (2)Along OF
(3)Along OC (4) None of these

Q.3 A block of mass m1 = 2 kg on a smooth
inclined plane at angle 30º is connected to a
second block of mass m2 = 3 kg by a cord
passing over a frictionless pulley as shown in
figure. The acceleration of each block is-
(Assume g = 10 m/sec2)

m 1 m2

30°

(1) 2 m/sec2 (2) 4 m/sec2

(3) 6 m/sec2 (4) 8 m/sec2

Q.4 Consider the figure, equivalent capacitance
between A and B is

A BC

V

C C C C

(1) C (2)
5

4C

(3)
4

5C
(4)

3

2C

Q.1 a Å¡pkbZ rFkk b pkSM+kbZ dk ,d ?kukHk CykWd i;kZIr
?k"kZ.k okyh {kSfrt lrg ij fLFkr gS] rks fn;s x;s
cy ds fy;s

b

a

f

(1) iyVus dh izkf;drk vf/kd gksrh gS ;fn b > a gks
(2) iyVus dh izkf;drk vf/kd gksrh gS ;fn a > b gks
(3) iyVus dh izkf;drk vf/kd gksrh gS ;fn a = b gks
(4) CykWd ugha iyV ldrk

Q.2 ,d le"kV~Hkqt ds dksuks ij N% vkos'k fp=kuqlkj
O;ofLFkr gSA ;fn dsUnz O ij ,d bysDVªksu j[kk
tk, rks bl ij cy gksxk %

A

F

B

DE

-2q -2q

- q

q

4q

2q

(1) 'kwU; (2) OF vuqfn'k
(3) OC ds vuqfn'k (4) buesa esa ls dksbZ ugha

Q.3 30° dks.k ds ,d fpdus vkur ry ij fLFkr
m1 = 2 kg nzO;eku dk ,d CykWd fp= esa n'kkZ;s
vuqlkj ,d ?k"kZ.kghu f?kjuh ij ls xqtjrh ,d
Mksjh }kjk nzO;eku m2 = 3 kg ds ,d nwljs CykWd
ls tqM+k gSA izR;sd CykWd dk Roj.k gS - (ekuk g =
10 m/sec2)

m 1 m2

30°

(1) 2 m/sec2 (2) 4 m/sec2

(3) 6 m/sec2 (4) 8 m/sec2

Q.4 fp= ij fopkj dhft,] A rFkk B ds e/; rqY;
/kkfjrk gS &

A BC

V

C C C C

(1) C (2)
5

4C

(3)
4

5C
(4)

3

2C
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Q.5 The loss in weight of a body taken from
earth's surface to a height h is 1%. The change
in weight taken into a mine of depth h will be-
(1) 1% loss (2) 1% gain
(3) 0.5% gain (4) 0.5% loss

Q.6 A car of mass 1250 kg is moving at 30m/s.
Its engine delivers 30 kW while resistive force
due to surface is 750 N. What max
acceleration can be given in the car?

(1)
2s/m

3

1
(2)

2s/m
4

1

(3)
2s/m

5

1
(4)

2s/m
6

1

Q.7 A uniformaly tapering vessel shown in Fig. is
filled with liquid of density 900 kg/m3. The
force that acts on the base of the vessel due
to liquid is (take g = 10 m/s2) -

AREA = 10 m–3 2

0.4m

AREA = 2 × 10 m–3 2

(1) 3.6 N (2) 7.2 N
(3) 9.0 N (4) 12.6 N

Q.8 When a point source of monochromatic light
is at a distance of 0.2 m from a photoelectric
cell, the cut–off voltage and the saturation
current are 0.6 volt and 18 mA respectively.
If the same source is placed 0.6 m away from
the photoelectric cell, then :
(1) The stopping potential will be 0.2 V
(2) The stopping potential will be 0.6 V
(3) The saturation current will be 6 mA
(4) The saturation current will be 18 mA

Q.9 Net resistance between X and Y is –

2

7

6

X Y

(1) 4  (2) 4.55 
(3) 2  (4) 20 

Q.5 i`Foh dh lrg ls dqN Å¡pkbZ h ij ys tkus ij ,d
oLrq dk Hkkj 1% de gks tkrk gSA ;fn blh oLrq
dks ,d [knku esa 'h' xgjkbZ ij ys tk;k tk, rks
Hkkj esa ifjorZu gksxk -

(1) 1% deh (2) 1% o`f)
(3) 0.5% o`f) (4) 0.5% deh

Q.6 1250 kg nzO;eku dh ,d dkj 30m/s osx ls
xfr'khy gSA mldk baftu 30 kW 'kfDr iznku
djrk gS tcfd lrg }kjk yxk;k tk jgk izfrjks/
kh cy 750 N gSA dkj dks fdruk vf/kdre Roj.k
fn;k tk ldrk gS\

(1)
2s/m

3

1
(2)

2s/m
4

1

(3)
2s/m

5

1
(4)

2s/m
6

1

Q.7 fp= esa n'kkZ;k x;k ,dleku :i ls vkojf.kr
(tapering) ik= 900 kg/m3 ?kuRo ds nzo ls Hkjk
gqvk gSA nzo ds dkj.k ik= ds vk/kkj ij ,d cy
dk;Zjr gksrk gS] gS (take g = 10 m/s2) -

{ks=Qy= 10 m–3 2

0.4m

{ks=Qy = 2 × 10 m–3 2

(1) 3.6 N (2) 7.2 N
(3) 9.0 N (4) 12.6 N

Q.8 tc ,d ,do.khZ fcUnq izdk'k L=ksr ,d izdk'k
oS|qr lSy ls 0.2 m dh nwjh ij gS] rks laLrC/k
oksYVrk rFkk lar`Ir /kkjk Øe'k% 0.6 oksYV o 18

mA gSA ;fn leku L=ksr dks izdk'k oS|qr lSy ls
0.6 m nwj j[kk tk;s] rks :
(1) fujks/kh foHko 0.2 V gksxk
(2) fujks/kh foHko 0.6 V gksxk
(3) fujks/kh foHko 6 mA gksxk
(4) lar`Ir /kkjk 18 mA gksxh

Q.9 X ,oa Y ds e/; dqy izfrjks/k gksxk –

2

7

6

X Y

(1) 4  (2) 4.55 
(3) 2  (4) 20 
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Q.10 The reading of air thermometer at 0°C and
100°C are 50 cm and 75 cm of mercury
column respectively.The temperature atwhich
its reading is 80 cm of mercurycolumn is :
(1) 105°C (2) 110°C

(3) 115°C (4) 120°C

Q.11 An elastic circular wire of length l carries a
current I0 it isplaced inauniformmagneticfield

B


(out of paper) such that its plane is

perpendicular to the direction of B


. The wire
will experiences :

B

B

B

BB

(1) No force (2)Astretching force
(3)Acompressive force(4)Atorque

Q.12 Two springs of the same material but of length
L and 2L are suspended with masses M and
2M attached at their lower ends. Their time
periods when theyare allowed to oscillate will
be in the ratio

M

L

(a) 2M

2L

(b)

(1) 1 : 2 (2) 2 : 1
(3) 1 : 4 (4) 4 : 1

Q.13 The force exerted on 10 kg block by floor of
l ift, asshown in thefigureis(takeg = 10 m/s2)

10 kg

5 kg 3 m/s
2

(1) 180 N (2) 150 N
(3) 195 N (4) 135 N

Q.10 0°C o 100°C ij ok;q rkiekih dk ikB;kad Øe'k%
ikjs LrEHk dk 50 cm o 75 cm gSA og rkieku
ftl ij bldk ikB~;kad edZjh LrEHk dk 80 cm gS,
gS :
(1) 105°C (2) 110°C
(3) 115°C (4) 120°C

Q.11 l yEckbZ dk ,d izR;kLFk o`Ùkkdkj rkj /kkjk I0

j[krk gSA bls ,dleku pqEcdh; {ks= ¼dkxt ds
ckgj½ esa bl izdkj j[kk tkrk gS fd bldk ry

B


(dkxt ds ckgj) dh fn'kk esa yEcor gS

B

B

B

BB

(1) dksbZ cy ughaa (2) ,d [khapko cy
(3) ,d laihM+u cy (4) ,d cyk?kw.kZ

Q.12 L o 2L yEckbZ dh leku inkFkZ dh nks fLiazxksa ds
fupys fljksa ls M o 2M nzO;eku tksM+dj yVdk;s
x;s gSaA mUgsa nkSyu djus ds fy;s Lora= NksM+us ij
muds vkorZdkyksa esa vuqikr gksxk :

M

L

(a) 2M

2L

(b)

(1) 1 : 2 (2) 2 : 1
(3) 1 : 4 (4) 4 : 1

Q.13 fp= esa n'kkZ;s vuqlkj fy¶V ds Q'kZ }kjk 10 kg ds
CykWd ij vkjksfir cy gS (fyft;s g = 10 m/s2)

10 kg

5 kg 3 m/s
2

(1) 180 N (2) 150 N
(3) 195 N (4) 135 N
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Q.14 Two glass blocks of triangular cross section
(n = 1.5) are used to make a periscope. Which
of the following is the correct arrangement?

(1) (2)

(3) (4)

Q.15 TheblockofmassMmovingon thefrictionless
horizontal surface collides with the spring of
spring constant K and compresses it by length
L. Themaximummomentumoftheblockafter
collisionis

(1) LMK (2)
M2

KL2

(3) zero (4)
K

ML2

Q.16 A bicycle wheel of radius 0.5 m has 32 spokes.
It is rotating at the rate of 120 revolutions per
minute, perpendicular to the horizontal com-
ponent of earth's magnetic field BH = 4 x 10-5

tesla. The emf induced between the rim and
the centre of the wheel will be-

× × × × × × ×
× × × × × × ×
× × × × × × ×
× × × × × ×
× × × × × ×
× × × × × ×
× × × × × × ×
× × × × × × ×

×
×

O

Rim

Spoke

(1) 6.28 × 10–5 V (2) 4.8 × 10-5 V
(3) 6.0 × 10–5 V (4) 1.6 × 10–5 V

Q.17 Two adjacent piano keys are struck
simultaneously. The notes emitted by them
have frequencies n1 and n2 . The number of
beats heard per sound is
(1) (n1 – n2) /2 (2) (n1 + n2) / 2
(3) n1 – n2 (4) 2 ( n1 – n2 )

Q.14 f=Hkqtkdkj vuqizLFk dkV (n = 1.5) ds nks dk¡p
CykWdks dks ,d ifjn'kZd (periscope) ds :i esa
mi;ksx esa yk;k tkrk gSA fuEu esa ls dkSulh O;oLFkk
lgh gS \

(1) (2)

(3) (4)

Q.15 ,d ?k"kZ.kghu {kSfrt lrg ij xfr'khy M nzO;eku
dk ,d CykWd K fLiazx fu;rkad dh ,d fLizax ls
Vdjkrk gS rFkk bls L yEckbZ rd laihfM+r djrk
gSA VDdj ds i'pkr~ CykWd dk vf/kdre laosx gS :

(1) LMK (2)
M2

KL2

(3) 'kwU; (4)
K

ML2

Q.16 f=T;k 0.5 m ds ,d lkbZfdy ds ifg;s esa 32 Liksd
gSA ;g i`Foh ds pqEcdh; {ks= ds {kSfrt ?kVd
BH = 4 x 10-5 Vslyk ds yEcor~ 120 ?kw.kZu izfr
feuV dh nj ls ?kwe jgk gSA ifg;s dh fje o dsUnz
ds e/; izsfjr fo|qr okgd cy gksxk -

× × × × × × ×
× × × × × × ×
× × × × × × ×
× × × × × ×
× × × × × ×
× × × × × ×
× × × × × × ×
× × × × × × ×

×
×

O

Rim

Spoke

(1) 6.28 × 10–5 V (2) 4.8 × 10-5 V
(3) 6.0 × 10–5 V (4) 1.6 × 10–5 V

Q.17 nks layXu fi;kuksa (piano keys) ds cVu dks ,d
lkFk nck;k tkrk gSA buds }kjk mRlftZr Loj n1
o n2 vko`fÙk;ka j[krs gaSA izfr lsd.M lquh xbZ
foLianksa dh la[;k gS -
(1) (n1 – n2) /2 (2) (n1 + n2) / 2
(3) n1 – n2 (4) 2 ( n1 – n2 )
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Q.18 In the circuit shown in the figure, the A.C.
source gives a voltage V = 20 cos(2000 t) volt
neglectingsource resistance, the voltmeter and
ammeter readingwill be :

6 

50mH, 4 50 F

~ A

V

(1) 0V, 1.4 A (2) 5.6 V, 1.4 A
(3) 0 V, 0.47 A (4) 1.68 V, 0.47 A

Q.19 Energy levels A, B, C of a certain atom
correspond to increasing values of energy, i.e.
EA < EB < EC. If 1, 2, 3, are the
wavelengths of radiations for the transitions
C  B, B  A and C  A respectively,
which of the following statements is correct

(1) 3 = 1 +2 (2) 3 =
 

 
1 2

1 2

(3) 1 + 2 +3 = 0 (4) 3
2 = 1

2 +2
2

Q.20 A neutron star of enormous densityis rotating
at the rate of one rotation per second. If the
radius of thestar is 20 km, then theacceleration
in m/s2 units for any particle situated at the
equator of the star will be: (2 = 10)
(1) 8 × 105 (2) 20 × 103

(3) 12 × 106 (4) 4 × 108

Q.18 fp= esa fn[kk;s x;s ifjiFk easa A.C. L=ksr dk oksYVst
V = 20 cos(2000 t) gSA L=ksr ds izfrjks/k dks
ux.; ekurs gq, oksYVehVj o vehVj ds ikB~;kad
Øe'k% gksaxs :

6 

50mH, 4 50 F

~ A

V

(1) 0V, 1.4 A (2) 5.6 V, 1.4 A
(3) 0 V, 0.47 A (4) 1.68 V, 0.47 A

Q.19 ÅtkZ ds c<+rs gq, ekuksa ls lacaf/kr ,d fuf'pr
ijek.kq ds ÅtkZ Lrj A, B, C vFkkZr~ EA < EB <

EC gSA ;fn laØe.k C  B, B  A rFkk
C Ads fy, fofdj.kksa dh rjaxnS/;Z Øe'k% 1,

2, 3 gS] rks fuEu esa ls dkSulk lgh gS?

(1) 3 = 1 +2 (2) 3 =
 

 
1 2

1 2

(3) 1 + 2 +3 = 0 (4) 3
2 = 1

2 +2
2

Q.20 fo'kky ?kuRo dk ,d U;wVªkWu rkjk ,d ?kw.kZu izfr
lsd.M+ dh nj ls ?kw.kZu dj jgk gSA ;fn rkjs dh
f=T;k 20 km gS] rks rkjs dh Hkwe/; js[kk ij fLFkr
fdlh d.k ds fy, Roj.k (m/s2 esa) gksxk :
(2 = 10)
(1) 8 × 105 (2) 20 × 103

(3) 12 × 106 (4) 4 × 108
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CHEMISTRY

Q.21 Theamountofzinc required toproduce224mL
of H

2
at NTP on treatment with dilute H

2
SO

4

will be -
(1) 0.65g (2) 6.5g
(3) 65g (4) 0.065g

Q.22 The spectrum of He-atom may be considered
similar to the spectrum of -
(1) H (2) Li+

(3) Na (4) He+

Q.23 The number of nodal planes in a px orbital is :
(1) one (2) two
(3) three (4) zero

Q.24 The compound which has the highest Lattice
energyis
(1) LiF (2) LiCl
(3) NaCl (4) MgO

Q.25 Which of the following gases will have the
highest rateof diffusion?
(1) O2 (2) NH3
(3) CO2 (4) N2

Q.26 The minimumenergyrequired for areaction to
take place is called
(1) internal energy (2) threshold energy
(3) activation energy (4) free energy

Q.27 Which is/are amorphous solids-
(1) Rubber (2) Plastics
(3) Glass (4)All

Q.28 The normality of 0.3 M phosphorus acid
(H3PO3) is
(1) 0.1 (2) 0.9
(3) 0.3 (4) 0.6

Q.29 Electrolysis involves oxidation and reduction
respectivelyat :
(1)Anode and cathode
(2) Cathode and anode
(3)At both the electrodes
(4) None of these

Q.30 All collodial solutions show :
(1) Veryhigh osmotic pressure
(2) High osmotic pressure
(3) Low osmotic pressure
(4) No osmotic pressure

Q.21 ftad dh fdruh ek=k dks ruq H
2
SO

4
ds lkFk

mipkfjr djus ij NTP ij 224mL H
2
izkIr gksxh-

(1) 0.65g (2) 6.5g
(3) 65g (4) 0.065g

Q.22 ghfy;e ijek.kq dk LisDVªe fdlds leku ekuk tk
ldrk gS &
(1) H (2) Li+

(3) Na (4) He

Q.23 px d{kd esa uksMy Iysu ¼uksMy ryksa½ dh la[;k gSA
(1) ,d (2) nks
(3) rhu (4) 'kwU;

Q.24 fdl ;kSfxd dh tkyd ÅtkZ mPpre gS&

(1) LiF (2) LiCl
(3) NaCl (4) MgO

Q.25 fuEu esa ls fdl xSl esa folj.k dh nj mPpre
gksxh?
(1) O2 (2) NH3
(3) CO2 (4) N2

Q.26 vfHkfØ;k gksus ds fy;s vko';d U;wure ÅtkZ
dgykrh gS :
(1) vkUrfjd ÅtkZ (2) nsgyh ÅtkZ
(3) lfØ;.k ÅtkZ (4) eqDr ÅtkZ

Q.27 fuEu esa ls dkSulk vfØLVyh; Bksl gS -
(1) jcj (2) IykfLVd
(3) dk¡p (4) lHkh

Q.28 0.3 M QkWLQksjl vEy (H3PO3) dh ukWeZyrk gS&

(1) 0.1 (2) 0.9
(3) 0.3 (4) 0.6

Q.29 fo|qrvi?kVu esa lfEefyr vkWDlhdj.k rFkk vip;u
Øe'k% fdl ij gksrs gS :
(1) ,suksM rFkk dSFkksM
(2) dSFkksM rFkk ,suksM
(3) nksuksa bysDVªksMks ij
(4) bueas ls dksbZ ugha

Q.30 lHkh dksykWbM foy;u n’kkZrs gS :
(1) vfr mPp ijklj.k nkc
(2) mPp ijklj.k nkc
(3) fuEu ijklj.k nkc
(4) dksbZ ijklj.k nkc ugha
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Q.31 The simplest alkane which exhibits chain
isomerism has how many carbon atoms :
(1) 4 (2) 5 (3) 6 (4) 3

Q.32 Chlorobenzene is -
(1) More reactive than ethyl bromide
(2) More reactive than isopropyl chloride
(3) As reactive as methyl chloride
(4) Less reactive than benzyl chloride

Q.33 Anhydride of alcohol is-
(1) Ether
(2) Aldehyde
(3) Alkanoic anhydride
(4) Alkoxides

Q.34 Which aldehyde is insoluble in H2O -
(1) Propanal (2) Ethanal
(3) Butanal (4) Heptanal

Q.35 The numberof electrons present in the valency
shell of carbon of carbanion :
(1) 8 (2) 7 (3) 6 (4) 4

Q.36 Alicyclic compound is
(1)Aromatic compound
(2)Aliphatic compound
(3) Hetero cyclic compound
(4)Aliphatic cyclic compound

Q.37 Which of the following will show geometrical
isomerism ?
(1) 1-Butene
(2) 1,2-Dibromoethene
(3) Propene
(4) Isobutylene

Q.38 Solvent used in the, Friedel Craft’s reaction is:

(1) Nitrosobenzene (2) Nitrobenzene
(3) Benzene (4)Toluene

Q.39 Triphenyl phosphine is –
(1) Neutral and monodentate ligand
(2) Neutral and tridentate ligand
(3) Uninegative and unidentate ligand
(4) Trinegative and tridentate ligand

Q.40 Chloride ore among the following is -
(1) Malachite (2) Magnesite
(3) Magnetite (4) Rock salt

Q.32 Ja`[kyk leko;ork n'kkZus okys ljyre ,Ydsu
esa fdrus dkcZu ijek.kq gksrs gS :
(1) 4 (2) 5 (3) 6 (4) 3

Q.32 Dyksjks csUthu gS -
(1) ,fFky czksekbM dh vis{kk vf/kd fØ;k'khy
(2) vkblksçksfiy DyksjkbM dh vis{kk vf/kd fØ;k'khy
(3) esfFky DyksjkbM ds leku fØ;k'khy
(4) csfUty DyksjkbM dh vis{kk de fØ;k'khy

Q.33 ,YdksgkWy dk ,ugkbMªkbM gS&
(1) bZFkj
(2) ,fYMgkbM
(3) ,YdsuksbZd ,ugkbMªkbd
(4) ,YdksDlkbZM

Q.34 dkSulk ,fYMgkbM H2O esa vfoys; gS&
(1) izksisuSy (2) ,FksuSy
(3) C;wVsuSy (4) gsIVsuSy

Q.35 dkcZ_.kk;u ds dkcZu ds la;ksth dks'k esa mifLFkr
bysDVªkWuksa dh la[;k gS :
(1) 8 (2) 7 (3) 6 (4) 4

Q.36 ,fylkbfDyd ;kSfxd gS&
(1) ,sjksesfVd ;kSfxd
(2) ,sfyQsfVd ;kSfxd
(3) fo"ke pfØ; ;kSfxd
(4) ,sfyQsfVd pfØ; ;kSfxd

Q.37 fuEu esaa ls dkSu T;kfefr leko;ork iznf'kZr
djrk gS ?
(1) 1-C;wVhu
(2) 1,2-MkbZczkseks,Fkhu
(3) izksihu
(4) vkblks C;wfVyhu

Q.38 ÝhMy Øk¶V vfHkfØ;k esa dkSulk foyk;d dke esa
ysrs gS&
(1) ukbVªkslkscsathu (2) ukbVªkscsathu
(3) casthu (4) VkWywbZu

Q.39 VªkbZQsfuy QkWLQhu gS –
(1) mnklhu ,oa nUrqd fyxs.M
(2) mnklhu ,oa f=&nUrq fyxs.M
(3) ,d _.kkRed ,oa ,d nUrqd fyxs.M
(4) f=&_.kkRed ,oa f=&nUrqd fyxs.M

Q.40 fuEu esa ls DyksjkbM v;Ld gS -
(1) eSysdkbV (2) eSXuslkbV
(3) eSXusVkbV (4) jkWd yo.k
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Q.41 A livingorganism can be differentiated from a
nonliving thing on the basis of its abilityfor –
(1) Conciousness
(2) Growth and movement
(3) Responsiveness to touch
(4) Interaction with environment and
progressive evolution

Q.42 Which is not correct about methanogens ?
(1) They are archaebacteria
(2) They live in marshyareas
(3) Methane is their preferred carbon source
(4)Theyarepresent in gutsof several ruminant

animals (cow, buffaloes) and theyproduce
biogas (CH4) from the dung of these
animals

Q.43 Select the correct options about algae -
(1) Some algae are associated with fungi (in
lichen) and animals (on sloth bear)
(2) Great range in form and size
(3) Reproduce by vegetative, asexual and
sexualmethod
(4)All

Q.44 What is characteristic of deuterostomes ?
(1)Radialcleavage,blastoporebecomingmouth
(2) Spiralcleavage,blastoporebecomingmouth
(3) Radial cleavage,blastopore becominganus
(4) Spiralcleavage,blastoporebecomingmouth

Q.45 The true diploblastic animals belong to
(1) Coelenterata & ctenophora
(2) Cnidaria & porifera
(3)Annelida & Nema toda
(4) Porifera & protozoa

Q.46 Cestodes are distinguished from other
flatworms by the absence of :
(1) nervous system
(2) digestive system
(3) excretory system
(4) reproductive system

Q.41 thfor tho mldh ;ksX;rk ds vk/kkj ij viokfnr
:i ls fuftZo oLrqvksa ls foHksfnr gks ldrk gS&
(1) çtuu ds fy,
(2) o`f) rFkk xeu ds fy,
(3) Li'kZ ds çfr çfrfØ;k ds fy,
(4) okrkoj.k rFkk Øfed m}hdkl ds lkFk vU;ksU;
fØ;k ds fy,

Q.42 esFksukstu ds ckjs esa dkSulk lgh ugha gS \
(1) ;s vkfdZcsfDVfj;k gksrs gSaA
(2) ;s nynyh {kS=ksa esa jgrs gSaA
(3) esFksu mudk mi;qDr dkcZu óksr gSA
(4) ;s dbZ :feusUV tUrqvksa ¼xk;] HkSalksa½ dh vkar esa

mifLFkr gksrs gS rFkk ;s bu tUrqvksa ds xkscj ls
tSo xSl (CH4) mRiUu djrs gSaA

Q.43 'kSoky ds ckjs essa lgh fodYi pqfu;s&
(1) dqN 'kSoky dod ¼'kSokd½ rFkk tUrqvksa ¼LykWFk
Hkkyw½ ds lkFk tqMs+ gksrs gSaA
(2) :i rFkk vkdkj esa vf/kd ijkl okys gksrs gSaA
(3) dkf;d] vySafxd rFkk ySafxd fof/k }kjk çtuu
djrs gSaA
(4) lHkh

Q.44 M~;qVsjksLVksEl esa vfHky{k.k D;k gS\
(1) vjh; fonyu] CykLVksiksj eq[k cu tkrk gSA
(2) lfiZy fonyu] CykLVksiksj eq[k cu tkrk gSA
(3) vjh; fonyu] CykLVksiksj xqnk cu tkrk gSA
(4) lfiZy fonyu] CykLVksiksj xqnk cu tkrk gSA

Q.45 okLrfod f}Lrjh; tUrq lEcfU/kr gS
(1) lhysUVsªVk rFkk VhuksQksjk ls
(2) ukbMsfj;k rFkk iksfjQsjk ls
(3) ,usfyMk rFkk uhesVksMk ls
(4) iksfjQsjk rFkk çksVkstksvk ls

Q.46 fdldh vuqifLFkfr ds dkj.k lsLVksM dks vU; piVs
Ñfe;ksa ls foHksfnr djrs gSa&
(1) raf=dk rU= (2) ikpu rU=
(3) mRlthZ rU= (4) çtuu rU=
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Q.47 Match the following
Column I Column II
A. Jasmine (i) Sucker
B. Pineapple (ii)Rhizome
C. Zaminkand (iii)Stolon
D. Ginger (iv) Corm
Codes :
(1)A-(i), B-(iii), C-(iv), D-(ii)
(2)A-(ii), B-(i), C-(iv), D-(iii)
(3)A-(iii), B-(i), C-(ii), D-(iv)
(4)A-(iii), B-(i), C-(iv), D-(ii)

Q.48 Consider the followingstatements and choose
the correct answer :
A.AdvertisingflagofMussaenda isamodified
sepal
B. Pappus is persistent hairypetal in asteraceae
C. In Trapa, calyx is modified into two spines
Codes :
(1)All are correct
(2) B is incorrect
(3) C is incorrect
(4) A and B are correct

Q.49 Anatomicallydicot stem differ from monocot
stemin :
(1)Absence of hypodermis
(2) Presence of endarch xylem
(3) Havingconjoint vascular bundle
(4) Presence of starch grains in endodermis

Q.50 Adipocytes are mainlypresent in –
(1) Bones (2) Nerves
(3) Cartilage (4) Connective tissue

Q.51 The toad possesses
(1) Bifid tongue, slippery skin and mucous
glands
(2)Salivaryglands,mucous glands and parotid
glands
(3) Parotid glands,wartyskin and semicircular
snout
(4)Slipperyskin,yellowpigmentandabundant
mucous glands

Q.52 Mitochondria and chloroplasts are semi-
autonomous as they possess
(1) DNA
(2) DNA + RNA
(3) DNA + RNA + ribosomes
(4) Proteins

Q.47 fuEu dks lwesfyr dhft,&
LrEHk&I LrEHk&II

A. tSfLeu (i) HkwLrkjh
B. ikbu,Iiy (ii) jkbtkse
C. tfedaUn (iii) LVksyksu
D. vnjd (iv) dkWeZ
dwV %
(1)A-(i), B-(iii), C-(iv), D-(ii)
(2)A-(ii), B-(i), C-(iv), D-(iii)
(3)A-(iii), B-(i), C-(ii), D-(iv)
(4)A-(iii), B-(i), C-(iv), D-(ii)

Q.48 fuEu dFkuksa dk v/;;u dhft, rFkk lgh mÙkj
pqfu;s&
A. Mussaenda dk foKkiu >.Mk :ikUrfjr cká
ny gSA
B. isil ,LVsjslh esa fpjLFkk;h jksfey ny gSA
C. Vªkik esa ckányiqat nks daVdks esa :ikUrfjr gksrs gSa
dwV %
(1) lHkh lgh gSA (2) B xyr gSA
(3) C xyr gSA (4) A rFkk B lgh gSA

Q.49 f}chti=h LrEHk ,dchti=h LrEHk ls 'kkfjfjdh
:i ls fHkUu gS] dSls&
(1) gkbiksMkfeZl dh vuqifLFkfr esa
(2) vUr% vkfn nk:d dh mifLFkfr esa
(3) Conjoint laogu caMy dh mifLFkfr esa
(4) ,.MksMfeZl esa LVkpZ d.kksa dh mifLFkfr esa

Q.50 ,fMikslkbV~l eq[;r;k mifLFkr gksrs gSa&
(1) vfLFk;ksa esa (2) raf=dkvksa esa
(3) mikfLFk esa (4) la;ksth ÅÙkd esa

Q.51 VksM esa gksrs gSa&
(1) ckbZfQM thHk] fpduh Ropk rFkk 'ys"ek xzfUFk
(2) ykj xzfUFk] 'ys"ek xzfUFk rFkk isjksfVM xzfUFk
(3) isjksfVM xzfUFk] okfVZ Ropk rFkk v)Zoy;kdkj
LukmV
(4) fpduh Ropk] ihr o.kZd rFkk vR;f/kd 'ys"ek
xzfUFk

Q.52 ekbVksdkWfUMª;k rFkk gfjryod v)ZLok;Ùk'kk"kh gksrs
gSa] D;ksafd buesa gksrk gS&
(1) DNA
(2) DNA + RNA

(3) DNA + RNA + jkbckslkse
(4) çksVhu
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Q.53 Catabolic and anabolic pathways are often
coupled in cell because –
(1) The intermediates of a catabolic pathway
are used in the anabolic pathway
(2) Both the pathway use the same energy
(3) The free energyreleased from one pathway
is used to drive other
(4) Their enzymes are controlled bytheir same
activators and inhibitors

Q.54 In plant cells, cytokinesis occurs by
(1) Cell plate formation
(2) Invagination
(3) Cleavage
(4) Furrowing

Q.55 Deduce the value of w and p of a flaccid
cell if its OP is 30 atmosphere
(1) w = –30, P = 0
(2) w = 0, P = 15
(3) w = –30, P = 0
(4) w = –15, P = 15

Q.56 How manyATPmolecules are required for the
formation of 3NH3, through symbiotic N2
fixation?
(1) 16 ATP (2) 24 ATP
(3) 32 ATP (4) 38 ATP

Q.57 C55 H70 O6 N4 Mg is the empirical formula
for
(1) Chlorophyll a (2) Chlorophyll b
(3) Chlorophyll c (4) Chlorophyll d

Q.58 NumberofmoleculesofCO2 generated inETS
when reduced coenzymes from one glucose
molecule are oxidised ?
(1) Zero (2) 1
(3) 12 (4) 24

Q.53 dksf'kdk eas vip;h rFkk mip;h fØ;k çk;% ,d
lkFk gksrh gS] D;ksafd&
(1) vip;h fØ;k dk e/;orhZ mip;h fØ;k esa
mi;ksx gksrk gS&
(2) nksuksa fØ;kvksa esa leku ÅtkZ dk mi;ksx gksrk
gSA
(3) igyh fØ;k ls fu"dkflr eqDr ÅtkZ nwljh
fØ;k ds lapkyu esa mi;ksx gksrh gSA
(4) buds ,Utkbe muds leku lfØ;dkjd rFkk
lanedks }kjk fu;fU=r gksrs gSaA

Q.54 ikni dksf'kdkvksa esa lkbVksdkbusfll gksrk gS&
(1) dksf'kdk ifêdk fuekZ.k }kjk
(2) buosftus'ku }kjk
(3) fonyu }kjk
(4) [kk¡p fuekZ.k }kjk

Q.55 'yFk dksf'kdk dsw rFkkp dk eku Kkr dhft,
;fn bldh OP 30 atmosphere gS&
(1) w = –30, P = 0
(2) w = 0, P = 15
(3) w = –30, P = 0
(4) w = –15, P = 15

Q.56 lgthoh N2 fLFkjhdj.k }kjk 3NH3 ds fuekZ.k ds
fy, fdrus ATP v.kqvksa dh vko';drk gksrh gS&
(1) 16 ATP (2) 24 ATP
(3) 32 ATP (4) 38 ATP

Q.57 C55 H70 O6 N4 Mg lw= gS&
(1) i.kZgfjr a dk (2) i.kZgfjr b dk
(3) i.kZgfjr c dk (4) i.kZgfjr d dk

Q.58 ETS esa CO2 ds fdrus v.kq mRiUu gksrs gSa] tc ,d
XyqdkWt v.kq ls vipf;r dks&,Utkbe vkWDlhÑr
gksrs gSa\
(1) 'kwU; (2) 1
(3) 12 (4) 24



Page # 12

Q.59

Shoot Meristem

Root Meristem

B

A

In above diagram, the Apart is developed first
as compare to B part. Therefore, Select the
right plant name, which have this type of event
during embryogenesis?
(1) Mango (2) Rice
(3) Mustard (4) 1 and 2 both

Q.60 Dental formula of adult person is –

(1)
2122

2122
(2)

2114

2114

(3)
2123

2123
(4)

2124

2123

Q.61 Pneumotaxic centre is present in –
(1) Pons (2)Medullaoblongata
(3) Cerebrum (4) Cerebellum

Q.62 Hepatic portal system starts from
(1) Digestive system to liver
(2) Kidney to liver
(3) Liver to heart
(4) Liver to kidney

Q.63 The amountof the fitrate formedbythe kidney/
minute is called GFR (Glomerular filtration
rate). The GFR of a healthy adult is -
(1) 80 ml/m (2) 125 ml/m
(3) 300 ml/m (4) 20 ml/m

Q.64 Pelvic girdle consists of –
(1) Ileum, ischium and pubis
(2) Ilium, ischium and pubis
(3) Ilium, ischiumand Clavicle
(4) Coracoid, Ischium and Pubis

Q.65 The forebrain develops into –
(1) Diencephelon and Cerebrum
(2) Diencephelon and Cerebellum
(3) Diencephelon and Medulla
(4) Diencephelon and Pons

Q.59

çjksg foHkT;ksrd
B

A

ewy foHkT;ksrd

mijksDr fp= esa Hkkx A Hkkx B dh rqyuk esa igys
fodflr gksrk gSA blfy,] lgh ikni uke dk
p;u dhft, ftlesa Hkzw.kksn~Hkou ds nkSjku bl çdkj
dh ?kVuk gksrh gSA
(1) vke (2) pkoy
(3) ljlksa (4) 1 rFkk 2 nksuksa

Q.60 o;Ld O;fDr dk nar lw= gS&

(1)
2122

2122
(2)

2114

2114

(3)
2123

2123
(4)

2124

2123

Q.61 U;weksVsfDld dsUnz mifLFkr gksrk gS&
(1) iksUl (2) esM~;qyk vkWCyksaxsVk
(3) çefLr"d (4) vuqefLr"d

Q.62 ;Ñr fuokfgdk rU= çkjEHk gksrk gS&
(1) ikpu rU= ls ;Ñr esa
(2) o`Dd ls ;Ñr esa
(3) ;Ñr ls ân; esa
(4) ;Ñr ls o`Dd esa

Q.63 çfr feuV o`Dd }kjk GFR ¼Xykses:yj fuL;an nj½
dgykrh gSA ,d LoLFk o;Ld dk GFR gksrk gS&
(1) 80 ml/m (2) 125 ml/m
(3) 300 ml/m (4) 20 ml/m

Q.64 Jksf.k es[kyk cuh gksrh gS&
(1) bfy;e] blfp;e rFkk I;qfcl dh
(2) bfy;e] blfp;e rFkk I;qfcl dh
(3) bfy;e] blfp;e rFkk Dysfody dh
(4) dksjsdkWbM] blfp;e rFkk I;qfcl dh

Q.65 vxzefLr"d fodflr gksrk gS&
(1) Mk,ulhQsyksu rFkk çefLr"d esa
(2) Mk,ulhQsyksu rFkk vuqefLr"d esa
(3) Mk,ulhQsyksu rFkk esM~;qyk esa
(4) Mk,ulhQsyksu rFkk iksUl esa
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Q.66 Which among the following are the hormones
of Gastro-intestinal tract –
A. Gastrin
B. Secretin
C. Cholecystokinin
D. Gastric inhibitory peptide
(1) A and B (2) C and D
(3) All of the above (4) None of these

Q.67

The above figure refers to which type of
reproduction in yeast ?
(1) Binaryfission (2) Budding
(3) Layering (4) Fusion

Q.68 The terms used when anthers and stigma of an
intersexual or perfect flower ripen before the
opening of buds as in wheat and pea is –
(1) Bud pollination
(2) Immaturepollination
(3) Cleistogamy
(4)Selfpollination

Q.69 Tunica albuginea covers
(1) penis (2) testis
(3) ovule (4) scrotum

Q.70 Choose the correct option
I. RTI - Reproductive Tract Infections
II. VD - Venereal Diseases
III. STD - SexuallyTransmitted Diseases
IV. IVF - Intra Vaginal Transfer
(1)All (2) I, II, III
(3) II, III (4) I, II

Q.71 In the ABO system of blood groups, if both
antigens are present but no antibody, the blood
group of the individuals would be :-
(1) B (2) O
(3)AB (4) A

Q.72 About how long ago was the Earth
(1) 3.0 billion years ago
(2) 10 billion years ago
(3) 4.6 billion years ago
(4) 20 billion years ago

Q.66 fuEu esa ls dkSulk tBj&vkU=h; ekxZ dk gkWeksZu
gS&
A. xsfLVªu
B. lhØsfVu
C. dksyhflLVksdkbfuu
D. xsfLVªd lanfer isIVkbM
(1) A rFkk B (2) C rFkk D

(3) mijksDr lHkh (4) buesa ls dksbZ ugha

Q.67

mijksDr fp= ;hLV esa çtuu ds dkSuls çdkj dks
n'kkZ jgk gS\
(1) f}fo[k.Mu (2) eqdqyu
(3) ys;fjax (4) lay;u

Q.68 xsgq¡ rFkk eVj esa vUrj fyaxh ;k iw.kZ iq"i ds ijkxdks"k
rFkk ofrZdkxz dfydk ds [kqyus ls igys id tkrs gSa]
dgykrk gS&
(1) dfydk ijkx.k
(2) vifjiDo ijkx.k
(3) DyhLVksxseh
(4) Lo ijkx.k

Q.69 V~;qfudk ,Ycqftuh;k vkofjr djrh gSA
(1) f'k'u dks (2) o`"k.k dks
(3) v.M dks (4) o`"k.k dks"k dks

Q.70 lgh fodYi pqfu;s&
I. RTI - çtfud ekxZ laØe.k
II. VD - osusjh;y jksx
III. STD - ySafxd :i ls lapfjr jksx
IV. IVF - bUVªk osftuy LFkkukUrj.k
(1) lHkh (2) I, II, III
(3) II, III (4) I, II

Q.71 jDr lewgksa dks ABO iz.kkyh esa ;fn fdlh O;fDr esa
nksuksa izfrtu ¼,UVhtu½ ekStwn gks rFkk izfrfiM
¼,UVhckWMh½ ,d Hkh u gks rks ml O;fDr dk jDr
lewg D;k gksxk&
(1) B (2) O
(3)AB (4) A

Q.72 i`Foh dk tUe fdrus lky iqjkuk gS &
(1) 3.0 billion years ago
(2) 10 billion years ago
(3) 4.6 billion years ago
(4) 20 billion years ago
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Q.73 Fatty liver syndrome is due to
(1) cigarette smoke
(2) alcoholic drinks
(3) opiate narcotics
(4) psychedelic drugs.

Q.74 The technique of obtaining large number of
plantlets by tissue culture method is called
(1) Organ culture
(2) Micropropagation
(3) Macropropagation
(4) Plantlet culture V

Q.75 The wax glands in honey bee are present-
(1) On the ventral side of the last segment
(2) On the ventral side of last four abdominal
segments
(3) On the dorso-lateal side of first two
abdominal segments
(4) On the lateral sie of last two abdominal
segments

Q.76 Streptomycin is produced from -
(1) Streptomyces scoleus
(2) Streptomyces griseus
(3) Streptomyces fradiae
(4) Streptomyces venezuelae

Q.77 When the codon of mRNA is 5'-GUC-3' then
the anticodon on tRNA will be
(1) 5'-CAG-3' (2) 3'-CAG-5'
(3) 3'-CUG-5' (4) 3'-GAC-5'

Q.78 Insertional inactivation is related to
(1) Microinjection
(2) Gene gun
(3) Gel electrophoresis
(4) Selection of recombinants

Q.79 Inland fisheries are
(1) Deep sea fishing
(2) Capturing fishes from sea coast
(3) Raising and capturing fishes in fresh water
(4) Oil extraction from fish

Q.80 Biogas contains
(1) 30%-40% methane
(2) 50%-70% CO2

(3) 50%-70% methane
(4) 20% methane

Q.73 QsVh yhoj flUMªkse gksus dk dkj.k gS&
(1) flxjsV ihuk
(2) 'kjkc ihuk
(3) vksfi,V ukjdksfVDl
(4) ekufld jksx dh vkS"kf/k;k¡

Q.74 Ård lao/kZu fof/k }kjk vf/kd la[;k esa ikniksa
(Plantlets) çkIr djus dh rduhd dks dgrs gSa&
(1) vax lao/kZu
(2) lw{e lapj.k
(3) nh?kZ lapj.k
(4) IykaVysV (Plantlets) lao/kZu

Q.75 e/kqeD[kh esa ekse xzfUFk;k¡ mifLFkr gksrh gS&
(1) vfUre [k.M ds v/kj dh rjQ
(2) vfUre pkj mnjh; [k.Mksa ds v/kj dh rjQ
(3) çFke nks mnjh; [k.Mksa ds ì"B&ik'oZ dh rjQ
(4) vfUre nks mnjh; [k.Mksa ds ik'oZ dh rjQ

Q.76 LVªsIVksek;flu çkIr gksrh gS &
(1) LVªsIVksek;lsl Ldksfy;l
(2) LVªsIVksek;lsl xzhfl;l
(3) LVªsIVksek;lsl ÝsMh
(4) LVªsIVksek;lsl osustq,yh

Q.77 tc mRNA dk dksMksu 5'-GUC-3' gksrk gS] rc
tRNA ij ,.VhdksMksu D;k gksxk \
(1) 5'-CAG-3' (2) 3'-CAG-5'
(3) 3'-CUG-5' (4) 3'-GAC-5'

Q.78 fuos'kh fu"Øh;dj.k lEcfU/kr gS &
(1) lw{e vUr%çs"k.k ls
(2) thu xu ls
(3) tSy bysDVªksQksjsfll ls
(4) iqu%la;kstdksa ds p;u ls

Q.79 vUr% LFkyh; fQ'kjht gS&
(1) xgjs leqnz esa eNyh idM+uk
(2) leqnzh rV ls eNfy;ka idM+uk
(3) vyo.kh; ty esa eNfy;ka idM+uk ,oa c<+kuk
(4) eNyh ls rsy fu"d"kZ.k fudkyuk

Q.80 ck;ksxSl esa gksrs gSa &
(1) 30% – 40% esFksu
(2) 50% – 70% CO2

(3) 50% – 70% esFksu
(4) 20% esFksu
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